Supplementary Material

An economic evaluation of point-of-care ultrasound for children presenting to the emergency department with suspected septic arthritis of the hip

Cate Bailey^{A,*} (PhD, Senior Research Fellow), *Heather Deane*^B (MBBS, FRACP, Emergency Physician), *Adam O'Brien*^B (MBBS, DDU, FACEM, Emergency Physician) and *Kim Dalziel*^A (PhD, Professor)

^AMelbourne Health Economics, Melbourne School of Population and Global Health University of Melbourne, 207 Bouverie Street, Vic. 3035, Australia

^BDepartment of Emergency Medicine, Royal Children's Hospital, Melbourne, Vic., Australia

*Correspondence to: Email: <u>cate.bailey@unimelb.edu</u>

Supplementary files

Table S1

Cost per year for ultrasound use for suspected hip septic arthritis

	Cost per year for ED	Number of hours used per year	Percentage use for suspected hip septic arthritis	Cost for POCUS per year
Hardware: Initial ultrasound purchases (\$64,000 each over 10 years)	\$12,800	-	-	-
US maintenance (\$3500 each per year, for the last 5 years)	\$3,500	-	-	-
Consumables	\$1,000	-	-	-
POCUS server	\$15,650	-	-	-
Total	\$32,950			
Number of hours US use per year	4928			
Hip POCUS per year	-	10.13	0.21	\$67.76
Total for training year 1	-	62.32	1.26	\$416.73
Total for subsequent years	-	34.50	0.70	\$230.70

Table S2

Costs of training and credentialling for point-of-care ultrasound

Cost item	Clinician	Clinician #	# of sessions	Session length (hours)	Total hours	Hourly rate	Year 1	Ongoing
First year - initial training								
Development of materials Educational materials	Concernation education	1	1	20	20	79.02	¢1 560 40	
	Sonographer educator	1	1	20	20	78.02	\$1,560.40	-
Loading materials into learning system	Education officer	1	1	4	4	30	\$120.00	-
							\$1,680.40	
-	aining (3 trainees per w	orkshop, 1.5	hours each	_				
Trainer	Emergency Physician	1	7	1.5	10.5	230.97	\$2,425.19	-
	Sonographer	1	7	1.5	10.5	78.02	\$819.21	-
Trainee	Emergency	15	1	1.5	22.5	230.97	\$5,196.83	-
	Physicians							
	Nurse practitioners	5	1	1.5	7.5	93.05	\$697.88	-
							\$9,139.10	
Experience phase (performing 8 scans, on	e is a forma	tive assessme	ent, assessed b	oy the Sono	grapher ed	lucator)	
Trainer (formative assessment)	Sonographer educator	1	16	0.333	5.33	78.02	\$415.69	
Trainee	Emergency Physicians	15	8	0.333	39.96	230.97	\$9,229.56	
	Nurse practitioners	5	8	0.333	13.32	93.05	\$1,239.43	
	-						\$10,884.68	
	Credentialing (Sun	mative asse	essments - 3 (trainees per so	ession)			
Trainer	Emergency Physician	1	7	0.5	3.5	230.97	\$808.40	-
Trainee	Emergency Physician	15	1	0.5	7.5	230.97	\$1,732.28	-
	Nurse practitioner	5	1	0.5	2.5	93.05	\$232.63	-
	*						\$2,773.30	-

Ongoing maintenance of Credentialing

Mainte	enance per year (8 scans r	equired o	ver 2 years,	one is checked	l by Sonogr	apher)		
Trainer	Sonographer	1	4	0.083	0.332	78.02		\$25.90
Trainee	Emergency Physician	15	4	0.333	19.98	230.97		\$4,614.78
	Nurse practitioner	5	4	0.333	6.66	93.05		\$619.71
								\$5,260.40
Training new staff (1 EP and 1 NP pe	r year)							
Training								
Trainer	Emergency Physician	1	1	1.5	1.5	230.97	-	\$346.46
	Sonographer	1	1	1.5	1.5	78.02	-	\$117.03
Trainee	Emergency Physician	1	1	1.5	1.5	230.97	-	\$346.46
	Nurse practitioner	1	1	1.5	1.5	93.05	-	\$139.58
								\$949.52
Experie	nce phase (8 scans, one is	a formati	ve assessme	ent, assessed by	y the Sonog	rapher)		
Trainer (formative assessment)	Sonographer	1	16	0.333	5.33	78.02		\$415.69
Trainee	Emergency Physician	1	8	0.333	2.66	230.97		\$615.30
	Nurse practitioner	1	8	0.333	2.66	93.05		\$247.89
								\$1,278.88
	Credenti	aling (Sun	mative asso	essments)				
Trainer	Emergency Physician	1	2	0.5	1	230.97		\$230.97
Trainee	Emergency Physician	1	1	0.5	0.5	230.97		\$115.49
	Nurse practitioner	1	1	0.5	0.5	93.05		\$46.53
								\$392.98
Use of portable ultrasound							\$416.73	\$230.70
Total per year					180.1		\$24,894.20	\$8,112.47
Total per year averaged over 5 years	\$11,468.82							
Total per year averaged over 10	\$9,790.64							
years								